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Model Unstandardized Coefficients Standardized t Sig.

Coefficients

B Std. Error Beta
x1 672 .038 .839 17.609 .000
' X2 3.033 .825 .175 3.676 .014
a. Dependent Variable: y
b. Linear Regression through the Origin
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B Std. Error Beta

1 X2 16.090 2.619 .929 6.144 .001

LR e s A st ANl 5 b sl o) S s

t
Al Adabeall () oS padill Aag® Gl jhia adall) i 4 S Gl 8l aae Jlay pamll IS W
3 yima (5 DA il 5 )
Jaall Jalaa g adaléil) Culf dals
Y; =6.103 4+ 0.674 X,; + 2.874 X,; + ¢;
Coefficients®
Model Unstandardized Coefficients Standardized t Sig.
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B Std. Error Beta
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